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BfEHA . A0 24F TH24B (4) B8 MY — BRI

Bk AT T T SN 5N (B 750 « Lk 0N)

HDCP E R :

T—R OUT IN 1/ 2

FIERCRE © <= v F o 7 H— K (1 RJE) FIRI . 4Fn 24F 7TH24R0 (4)

JIE 57 2 INE 4 OUT IN GROSS | HDCP NET it &

1 A7 | IEF 39 38 77 0.0 77.0
2 | PEIE 38 39 77 0.0 77.0
3 A | A Bkt 38 42 80 0.0 80. 0
4 A0 | HE R 41 40 81 0.0 81.0
5 {ir | s H Fnzz 43 40 83 0.0 83.0
6 {7 |BEH EAE 41 42 83 0.0 83.0
T AL | 2N B 39 44 83 0.0 83.0
8 AL | K& & 42 42 84 0.0 84.0
9 fir | PR —F 42 42 84 0.0 84. 0
10 A7 | & & 45 40 85 0.0 85.0 | UL EFiEimiE
11 A7 | s B 44 41 85 0.0 85.0
12 7 | & 1E 42 43 85 0.0 85.0
13 N7 | IEAR B 41 44 85 0.0 85. 0
14 AL | 7T AT 40 45 85 0.0 85.0
15 7 | U 2§ 44 42 86 0.0 86. 0
16 A7 |3 —pk 43 43 86 0.0 86.0
17 {7 | Rih —3¢ 43 43 86 0.0 86. 0
18 7 | =W EHE 45 42 87 0.0 87.0
19 A7 | /AH #IE 43 44 87 0.0 87.0
20 A7 | eI i 41 46 87 0.0 87.0
21 {or | Hil )5 F5hst 44 44 88 0.0 88.0
22 A | & Fodd 41 47 88 0.0 88.0
23 L |EH — 46 43 89 0.0 89.0
24 A7 | & —pk 44 45 89 0.0 89. 0
25 AL | AR FE5L 44 45 89 0.0 89.0
26 {7 | #)1| BH{E 43 46 89 0.0 89.0
27 v | B4 FIE 47 43 90 0.0 90. 0
28 {ir | L FH —Kf 45 45 90 0.0 90.0
29 {7 | 4R 5 E 49 42 91 0.0 91.0
30 fir | #5H 32 KER 46 46 92 0.0 92.0
31 i | "B F5—BR 47 47 94 0.0 94. 0
32 fif | =5 47 47 94 0.0 94.0
33 i | KH 45 47 47 94 0.0 94.0
34 fiL | NE EA 46 48 94 0.0 94. 0
35 {7 | KA Fn=g 43 51 94 0.0 94.0
36 7 | lm P 49 46 95 0.0 95.0
37 if | B FHL 47 48 95 0.0 95.0
38 A7 | [ IR 47 48 95 0.0 95.0
39 fir | Hif AR 45 50 95 0.0 95.0
40 7 |JFH —AT 52 44 96 0.0 96. 0
41 oL | f&1r 1E 42 54 96 0.0 96. 0
42 ir | 0 & 51 46 97 0.0 97.0
43 fif | [ L —=— 47 50 97 0.0 97.0
44 {1 |'=E B2 47 50 97 0.0 97.0
45 7 | 45 53 98 0.0 98.0
46 L |k B 53 47 100 0.0 | 100.0
47 A7 | /MR B 50 50 100 0.0 | 100.0
48 I |4 H & 47 53 100 0.0 | 100.0
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JEAE 2 INE 4 OUT IN GROSS | HDCP NET it &
49 fir |/NEF SR 54 47 101 0.0 | 101.0
50 {7 | &l 2ok 48 53 101 0.0 | 101.0
51 fir | /NBF K H] 53 49 102 0.0 | 102.0
52 fif | lUA BiE 53 50 103 0.0 | 103.0
53 i | M & 49 54 103 0.0 | 103.0
54 N\ | A & 47 56 103 0.0 | 103.0
55 1\, | FH A7 49 55 104 0.0 | 104.0
56 i | A HERA 54 51 105 0.0 | 105.0
57 fif | kS &S 57 50 107 0.0 | 107.0
58 7 |JEH: R 52 55 107 0.0 | 107.0
59 iz | AR HIAT 56 54 110 0.0 | 110.0
60 {7 | AT # 57 54 111 0.0 | 111.0
61 A7 | &8 1E1T 61 54 115 0.0 | 115.0
62 1 | B B 54 61 115 0.0 | 115.0
63 7 | M=l Bk 54 63 117 0.0 | 117.0
64 N | 1A fik 61 64 125 0.0 | 125.0
65 I |[Heyr Bk 59 66 125 0.0 | 125.0
R AN —BR 46 53 99 0.0 99.0 | &ML
BN 48 55 103 0.0 | 103.0 | &7 L
Hf B 54 49 103 0.0 | 103.0 |&#&7aL
L B 41 42 83 0.0 83.0 &ML
B IE = AR 49 48 97 0.0 97.0 | &L
KL JE— 40 46 86 0.0 86.0 | &L
ITRE AP 65 58 123 0.0 | 123.0 | &k72 L
JEH ] 42 45 87 0.0 87.0 &ML
1EH AR 47 52 99 0.0 99.0 | &ML
BA IE 46 47 93 0.0 93.0 | &AL




